
Soustraction Avec Un Zéro (H)Calculez la différence.
200 600 700 100- 92 - 502 - 495 - 52
700 800 100 800- 501 - 166 - 29 - 229
400 500 600 300- 353 - 135 - 272 - 192
600 400 200 800- 349 - 278 - 13 - 664
800 700 300 500- 33 - 128 - 101 - 374
100 500 500 800- 59 - 203 - 454 - 34
700 500 700 500- 360 - 316 - 565 - 312
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Soustraction Avec Un Zéro (H) RéponsesCalculez la différence.
200 600 700 100- 92 - 502 - 495 - 52108 98 205 48700 800 100 800- 501 - 166 - 29 - 229199 634 71 571400 500 600 300- 353 - 135 - 272 - 19247 365 328 108600 400 200 800- 349 - 278 - 13 - 664251 122 187 136800 700 300 500- 33 - 128 - 101 - 374767 572 199 126100 500 500 800- 59 - 203 - 454 - 3441 297 46 766700 500 700 500- 360 - 316 - 565 - 312340 184 135 188
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